MATH
Score: Date: MONKS

Lattice Multiplication

Use the lattice multiplication method to find the product in each
problem.

© 29x8 ® 80x4 ©® 52x38
29 x 8 = 80 x4 = 52 x 8 =
® 58x3 ® 21x5 ® 88x5
58 x 3 = 21 x 5= 88 x 5 =
@ 45x7 ©® 12x8 ©® 18x7

45 x 7 = 12 x 8 = 18 x 7 =



Lattice Multiplication

Answers
& 29 x 8 @ 80 x4 (3] 52 x 8
2 9 8 0 5 2
1 // 74 /’/ 8 % // U 4 4 11 7 8
276" 2|~ 3772170 4170 6|
¥3%2 “2*%0 176
29 x 8= 232 80x4= 320 52 x 8= 416
® 58x3 ® 21x5 ® 88x5
5 8 2 1 8 8
1.2 3 1.0 s 4 14 5
11757 4|~ 107075 41707 0|
Y74 0" 5 “ 4% 0
58 x3= 174 21 x5= 105 88 x 5= 440
@ 45x7 (8] 12 x 8 (9] 18 x 7
4 5 1 2 1 8
2 /13 /| 7 0,711 .8 0,75 7|7
3|78 5— 01|78 6| 11777 6|
¥ q &g 9% 6 Rl ;



